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2nd Month, 2nd Week, 2nd  Day Unit # 2: Links of Food Chain

Q.No.1. Encircle the correct answer from the following choices. ( 4 x 1 = 4)


(i) A food chain consist of ________links.






 _________ 
(a) 2 (b) 3 (c) 4 (d) 5

(ii) In any food chain the first living thing is a: 
(a) producer  (b) predator 
(c) consumer  (d) decomposer 
(iii) Rat belong to which link of food? 
(a) First  (b) Second  (c) Third  (d) Fourth 

(iv) The example of third main link is: 
(a) Carnivore  (b) Omnivore 
(c) Herbivore  (d) both a and b  b  a

Q.No.2. Write the short answers. (3 x 2 = 6) 
(i) Write down the names of animals belong to second main link of food chain.



_________________________________________________________________

(ii)Write two examples of Producer. 

_________________________________________________________________

     (iii). Write down the names of animals belong to third main link of food chain.



________________________________________________________________
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